

ذ: م. اد��  ��
  ا���راك :4ا���ض ا����وس ر��  ا
  ا��!�  ا�����ي ��ل ��اد 

 9 "#

ت   :ا��$&'
 ا���
 ا��ـــــــــــ
دة:

 

 س2 
 #�ة

 ا,+!
ز:
 

 1$0. ا�$/�م ا���
'&. ا و ب

:ا�2$ـــــ0.  
 

 -س   
  ت

 
1,5 

 

1 

1,5 

1 

 

 

1 

1,5 

 

 

 

1 

 

 

 

1 

1 

1 

1,5 

 

 

 

 

1 

 

 

1 

 

1 

 

 

1 

 
   ن) 5,8ا�����4 ا
ول : ( 

1 -    �� ����	ℂ
)2:  ا���
د� ) :   (2 5 ) ²( 5 5 ) 0mE z m i z m i− + + − + =     ���m ∗∈ℂ   

 �� ��ℂ  
)ا���
د� )mE .  

2 -  ����x ∗
+∈ℝ  . 

]ا��� أن :   - أ ](1 ) tan   2Arg xi Arc x π+ ≡ 

1)ا��� ا���د    -  ب 2 )(1 3 )i i+  )"' ا�&�� ا�%��ي و ا��!"!� . +

tan(2)ا,�+�* (��
 ا���د   -  ت tan(3)Arc Arc+ 

3 -  �� ����	ℂ 
':   ا���
د� 1 1 2
( ) :   2

1 1 3

n

n

z i
E

z i

+ +  = − − 
         ���n .م��د 1�23 ط���� /�� .+�( 

��3
 ��6z ا	5 اذا �
ن   - أ 

د�
 �;	5 :�9ن �78"���"� <�. 

)'ا���
د�
  ��ℂ ��   -  ب )nE  .%��ي�&�� ا�2"9ل )"' ا�ا)< ا ?�  

)ا��9�Aى .  - 4 )P  ?B+�. �.
9A+.1ب ا�' .�"? .�� 2(O, , )e e
�� ���

 . 

      ���z  �.ℂ  :CD	' ² 2(2 5 ) 4( 5 5 )z z i z i= − + + − +  

          
EF+�ا �	
)��6 ا	5 اذا � )M z  ة�Hا�)8+��� ا�' ا� )C 
2)ا��� .��Jھ 5 )I i+  
K(
�L وr  
EF+�ن ا;�'( ')M z

.
  8+��� ا�' دا�Hة :�? �28�ھ

  ن) 4,5(  +7 :
�ا�����4 ا�
               
)ا���
د�
 ℂ	���� �� ا��9�%) )E   :  
��
6ا�� 3( ) :   9 18 26 0E z iz i− + − =  

MF281 أن:  -1 i−  2و i+  
)�"� ا���
د� )E . 
2-  �� ��ℂ    
)ا���
د� ')E    : ���3( ') :   1 0E z − = 

د�
 ��60z أ	5 اذا �
ن  - أ         -3��"� ��( )E  0وu  

د���"� ��( ')E  �0;ن 0z u 

د���"� ��( )E. 

)ا,�+�* �"9ل ا���
د�
   - ت )E .  

  ن) 4(  9
�8 :ا�����4 ا�

       
)ا���
د�
 ℂ	���� �� ا��9�%) )E     :  
��
)ا�� ) :   2
3

z i z
E i

z iz i

− =
++

   ��� z ∈ℂ  


د�
  ��6z أن  -1��"� ��( )E  : ن
3اذا و �F< اذا � 2z i z+ و    =
z i

i
z i

− =
+

  . 

N�O )z ان               i z i− = + (  
2 -  ����( )C  >F+�ا 
(9�%.( )M z M2"�ي ذات ا�F��9ى ا�A��ا �.z  : ��263 2z i z+ =. 

)��6 أن  )C   . 
K(
�Lو 
� .��Jھ:�  دا�Hة .E"9ب 28

3-  ����( )Γ  >F+�ا 
(9�%.( )M z M2"�ي ذات ا�F��9ى ا�A��ا �.z   : ��26
z i

i
z i

− =
+

 . 


�د ا��9�%)� ( )Γ   .  
4-  
)ا,�+�* )�د �"9ل ا���
د� )E.  ?� 
�دھ�.  

  

�

�
 



 9 "#

ت   :ا��$&'
 ا���
 ا��ـــــــــــ
دة:

 

 س2 
 #�ة

 ا,+!
ز:
 

 1$0. ا�$/�م ا���
'&. ا و ب

:ا�2$ـــــ0.  
 

 

1 

1 

1 

  ن) 3(  : �ا� ا�����4 ا�
:��6 أن  :      -1   sint t t∀ ∈ ≤ℝ. 

:��6 أن :      -2   1ie θθ θ∀ ∈ − ≤ℝ 

:ا,�+�* أن :      -3   ( )z z z z Arg z∗∀ ∈ − ≤ℂ 

  )ن2( :'
:7 ا,ا�����4 
1-   ����x وy وz  �.ℝ      : ��62 أن 2 20 0ix iy iz i x i y i ze e e e e e+ + = ⇒ + + = . 

A6< ا��%�9ع :     -2
1

1
cos( )

2 3

k n

k
k

k
π=

=
∑ 

  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

  
 

�

�
 


